
25 avenue Jean Moulin
B.P. 59 - 71700 TOURNUS - FRANCE
Tél.  +33 (0)3 85 27 42 42
Fax. +33 (0)3 85 27 42 99

ENGLISH

MANUFACTURER’S SPECIFICATIONS Ref : ML 106008
Iss : 5

WASH BASIN GC Date: 02/10/2014

MOUNTING GUIDELINE
Install the accessories on the bowl :
1: Fit the plunger on the cross piece, then screw the flexible

fitting 15/21 to the plunger (seal enclosed).
2: Pass the hose under the control panel support.
3: Assemble the nozzle, then screw the flexible fitting from the

plunger to the nozzle (seal supplied).
4: Assemble the pre-mixer on the plunger (seal supplied), hot

water on the left. Assemble the plug hole and trap.
WASH BASIN WITH SPLASH BACK
5: Hook on and screw the splash back on the wash  basins (5

x M4 screws with washers supplied).
6: Fix the support to the wall (3 x

M5 screws not supplied).
7: hook the wash basin on to the

support.
8: Fix the lower part of the

surround to the wall
(2 x  M5 screws not supplied).

9: stick on the soap and paper
towel dispenser.

10: Store the key of the dispenser in the location on the
control panel support.

hot / cold water supply:
11: Connect the trap and the hot and cold water flexible

fittings.
NB: remember to fit the flat filter seals (supplied).
12: Adjust the temperature of the water.

WASH BASINS WITHOUT SPLASH BACK
5: Fixing by means of screw the wall mount ( 3 screws M5 not

supplied).
6: Hooking the wash basins in the support.
7: Fix by the wall the bottom part  of the jupe ( 2 screws M5 not

supplied).
Alimentation hot / cold water:
8: Connecting the siphon and the fixing struts hot cold water.

2

1

3

4

Pre-mixer

fllexible fitting 15/21

Plunger

Cross piece

Plug hole
and trap
Water T°
adjustment knob

Nozzle

5

Support

Control panel

Nozzle

Surround
Splash back:
height  540 / 790mm

h.A  /  h.B 

Soap dispenser

h.A
  /

  h
.B

6

7
5

7

8 6


